[N of reco track vs normalized x2 ]

ks

racl

=10°

10*

i
o
T

oo s mc -

0 2 4 6 8 10 12 14 16 18 20

track x2

| N of associated (recoToSim) tracks vs normalized x?

2 F
o L
s
ol
=
-
10°F
10°F
10%F
10
o [
©
@ 1.5
[ e e (N R
0 2 8 10 12 14 16 18 20
track x2

- fake tracks
ow

i
o
S

Ratio

4 16 18 2

track x2

N of associated (recoToSim) looper tracks vs normalized x*

0

duplicate tracks
=

N of reco track vs.

DOM_mKkFit_TTbase
DQM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter

trug tracks

10

.. fake tracks
o Q
% 2

[N
o
S

track x?

duplicate tracks
=

10




	Contents
	Page 1


